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Homework 11.1
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Write the slope-intercept form of the equation of the line through the given point with the given slope.

1) through: (1, -2), slope=—4 2) through: (3,-1), slope=-2
Y+t = “4()("!) ¥+ +f = “&CX"B)
+2= —dx-y -
AN N yi—{z sux +0
Y= —dx b
3) through: (1, 4), slope=38§ y = axts
Y=g~
Y- = fx—g
+y +4
Y= ¢x~4¢
Write the slope-intercept form of the equation of the line through the given points.
4) through: (5, -1) and (4, 0) 5) through: (1, 0) and (4, -3)
= —l -0 — -+
— =l - =~ oTt3 ~
5S4 = m ¢ t5 =t
y+H =1 (x-<)
= xS y = i {x~1)
Y+ = —X
— —I >/ = ~ X4 |
Y ==X 4+

6) through: (—3, —2) and (—5, 2)

mz= '_Z_a‘:i,:_"ﬁ-
—2Y+g 2 T

y— 2= 2+ +f;')

}f"uL:-_ 2% —0

+o ta
y = ~AY -g
Solve each equation.
7) —6.5(x +7.9) = -87.1 8) 5.8(1 - 3.8¢) — 2r = 140.068
oS K —51.35 =~ &1 5,8+ 22,04 ~2v= |40, 06
"‘S\r?}?# 5135 N3 to0,0HdHr = /‘/O.OLE
ﬂw:(o|5‘x = —35,75 —5¢ Bhial
P’?S‘ -5 Ro, 0¥y = 139, 2ef
X= &5 goey 2

= (e.?
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Answers to Homework 11.1

1) y=—4x+2 2) y=—2x+35 3) y=8x—-4 4y y=—x+4
5) y=—x+1 6) y=-2x—38 7) {5.5} 8) {6.7}
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